
EL ratr ovt evt

,L rtb+bxtL=0

liia*V I o SVt t-Vi cia-r X-1
U

(ri
: 1 &V Yr:l,

\vr sLUt *-*$ ar$ r = 1- t ( ") X.,

'|12 + b L t c = 0

4 t 1-V + c = 0

Bes f-[vrq h cz\t c,

.*d= Y \-=r-Y* \f-\r'"*-\"--1.c*\r.*-qv,/"*174-

6rrn * ' '[ dt etut []'swur,r 11 tl tL ,\rntir4Ae\,t t*)u ,,,
wrist< ! L = H t- onn va- siiHan wt * = 1

u Ll ell cVvat c{r$ t 6tLy}t lrit I L

tvr stU vr,r-ltg aV K = {

1L +h 1rc=A

1 + b+ C = 0

L (*1 
$*t

(1)

S j H er \^ s a\,y ltaLyt

( l +bt L :o
J

L4 t zbt L= rr

E kv?tre.v1 ( 4) g o

('t\ w\r

(2)

(2)

(r)

(r)

b= ( r")

\vr si hftro$ L (e) 
$.n

4 + L(-c 1)t L=-0

t 2c- ?rc

LPC

=0

=b

L? 2

l',r s,iM*t L ( t*) $"r

1 = -3b=

6,rav ; 16= *2, L=1

L uswu,r


